
Technical FAQs

Question: Is it possible to connect HES's 80 km model and HES's 40 km model with each other?

Question Type: Installation

Solutions:

• The fiber transceiver's wavelength on HES is 1310nm for the 40km model and 1310nm 

   for the 80km model. The wavelength should be the same between two link partners. If the 

   wavelengths are different, the devices cannot communicate with each other. When planning 

   your system, be sure to keep this important point in mind.

• If you have additional questions, feel free to contact us by e-mail at dhe@henrich-inc.com.
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